



On Solving Non-homogeneous Binary Higher Degree Diophantine Equation

$$x^2 - 5xy^{2s+1} = y^{4k+3} - 5y^{4k+2}$$

Dr. M.A.Gopalan

Department of Mathematics, Shrimati Indira Gandhi College, Affiliated to
Bharathidasan University, Trichy-620 002,
Tamil Nadu, India.

Abstract:

The non-homogeneous binary higher degree Diophantine equation given by $x^2 - 5xy^{2s+1} = y^{4k+3} - 5y^{4k+2}$ is analyzed for its patterns of non-zero distinct integral solutions.. A few interesting relations among the solutions are presented.

Keywords: Binary higher degree equation ,Non- Homogeneous equation , Integral solutions

Notations

$$\begin{aligned}t_{3,n} &= \frac{n(n+1)}{2} \\ P_n^5 &= \frac{n^2(n+1)}{2} \\ P_n^3 &= \frac{n(n+1)(n+2)}{6} \\ S_n &= 6n(n+1)+1 \\ Th_n &= 3 \cdot 2^n - 1\end{aligned}$$

Introduction:

The Diophantine equation offers an unlimited field for research due to their variety [1-4]. In particular, one may refer [5-22] for quintic and cubic equations with multiple variables. This communication concerns with an interesting non-homogeneous binary higher degree equation $x^2 - 5xy^{2s+1} = y^{4k+3} - 5y^{4k+2}$ for determining its infinitely many non-zero integral points. A few interesting relations among the solutions are presented.

Method of analysis:



The given non-homogeneous binary higher degree Diophantine equation is

$$x^2 - 5x y^{2k+1} = y^{4k+3} - 5y^{4k+2} \quad (1)$$

Treating (1) as quadratic in x and solving for the same, one has

$$x = \frac{y^{2k+1} [5 \pm \sqrt{4y+5}]}{2} \quad (2)$$

Consider the positive sign before the square-root in (2). Choosing

$$y = y(s) = s^2 + s - 1 \quad (3)$$

in (2) and performing some algebra, we have

$$x = x(k, s) = (s+3) (s^2 + s - 1)^{2k+1} \quad (4)$$

Thus, (3) and (4) satisfy (1). A few numerical solutions to (1) are presented in Table-1 below:

Table-1: Numerical solutions

s	y=y(s)	x=x(k,s)
1	1	4
2	5	$5 \cdot 5^{2k+1}$
3	11	$6 \cdot 11^{2k+1}$
4	19	$7 \cdot 19^{2k+1}$
5	29	$8 \cdot 29^{2k+1}$
6	41	$9 \cdot 41^{2k+1}$
7	55	$10 \cdot 55^{2k+1}$

Some observations between the solutions are presented below :

1. $y(s+2) - 2y(s+1) + y(s) = 2, s = 1, 2, 3, \dots$
2. $6[y(s+1) - y(s)]$ represents area of Pythagorean triangle when $s = 2\alpha^2 - 1$.
3. $y(s+2) - y(s+1)$ is a perfect square when $s = 2\alpha^2 + 4\alpha$.
4. $y(s+2) + y(s) = 4t_{3,s+1}$
5. $[y(s)]^{2k+1} (y(s+1) + y(s) + 2s) = 2s x(k, s)$
6. $[y(s)]^{2k+1} (y(s+1) - y(s) + 4) = 2x(k, s)$
7. $[y(s)]^{2k+1} (y(s+2) - y(s+1) + 2) = 2x(k, s)$
8. $[y(s)]^{2k+1} (y(s+2) - y(s) + 6) = 4x(k, s)$



9. $\frac{x(k,s)}{[y(s)]^{2k+1}} = Th_n$ when $s = 3 \cdot 2^n - 4$
10. $\frac{x(k,s)}{[y(s)]^{2k+1}} = S_n$ when $s = 6n(n+1) - 2$
11. $\frac{x(k,s)}{[y(s)]^{2k+1}} = 2t_{3,n}$ when $s = n(n+1) - 3$

Remark 1

Taking the negative sign before the square-root in (2) and repeating the process as above, the corresponding integer solutions to (1) are given below:

$$y = y(s) = s^2 + s - 1, \quad x = x(k,s) = (2-s)[s^2 + s - 1]^{2k+1}$$

Note 1

To remove the square-root in (2), let

$$\alpha^2 = 4y + 5 \quad (5)$$

which, after some algebra, is satisfied by

$$y_0 = s^2 + s - 1, \quad \alpha_0 = 2s + 1 \quad (6)$$

Assume the second solution to (5) as

$$\alpha_1 = h - \alpha_0, \quad y_1 = h + y_0 \quad (7)$$

where h is an unknown to be determined. Substituting (7) in (5) and simplifying, we have

$$h = 2\alpha_0 + 4$$

and in view of (7), it is seen that

$$\alpha_1 = \alpha_0 + 4, \quad y_1 = y_0 + 2\alpha_0 + 4$$

The repetition of the above process leads to the general solution to (5) as

$$\begin{aligned} \alpha_n &= \alpha_0 + 4n = 2s + 1 + 4n, \\ y_n &= y_n(s) = y_0 + 2n\alpha_0 + 4n^2 = (s + 2n)^2 + (s + 2n - 1) \end{aligned} \quad (8)$$

Taking the positive sign before the square-root in (2), we get

$$\begin{aligned} x_n = x_n(s) &= \frac{[y_n(s)]^{2k+1} [5 + \alpha_n]}{2} \\ &= (2n + s + 3)[y_n(s)]^{2k+1} \end{aligned} \quad (9)$$

Thus, the integer solutions to (1) are represented by (8) & (9).

Some relations between the solutions are shown below:

1. $y_{n+2}(s) - 2y_{n+1}(s) + y_n(s) = 8, n = 0, 1, 2, \dots$
2. $y_n(s+2) - 2y_n(s+1) + y_n(s) = 2, n = 0, 1, 2, \dots$
3. $[y_n(s)]^{2k+1} (y_n(s+1) - y_n(s) + 4) = 2x_n(k,s)$
4. $[y_n(s)]^{2k+1} (y_n(s+2) - y_n(s) + 6) = 4x_n(k,s)$
5. $[y_n(s)]^{2k+1} (y_n(s+2) - y_n(s+1) + 2) = 2x_n(k,s)$
6. $[y_n(s)]^{2k+1} (y_{n+1}(s) - y_n(s+1) + 2) = 2x_n(k,s)$



7. $y_n(s+2) = y_{n+1}(s)$
8. $x_n(s+2) = x_{n+1}(s)$
9. $\frac{x_n(k,s)}{[y_n(s)]^{2k+1}} = 6P_n^3 + 3$ when $s = n^3 + 3n^2$
10. $\frac{x_n(k,s)}{[y_n(s)]^{2k+1}} = 2P_n^5 + 2n + 3$ when $s = n^3 + n^2$

Remark 2

Taking the negative sign before the square-root in (2), we get

$$\begin{aligned} x_n &= x_n(s) = \frac{[y_n(s)]^{2k+1} [5 - \alpha_n]}{2} \\ &= (2 - 2n - s)[y_n(s)]^{2k+1} \end{aligned} \quad (10)$$

Thus, the integer solutions to (1) are represented by (8) & (10).

Conclusion:

In this paper, we have made an attempt to obtain all integer solutions to (1). To conclude, one may search for integer solutions to other choices of homogeneous or non-homogeneous higher degree equations with multiple variables.

REFERENCES

- [1].L.E. Dickson, History of Theory of Numbers, vol 2, Chelsea publishing company, New York, (1952).
- [2].L.J. Mordell, Diophantine Equations, Academic press, London, (1969).
- [3].R.D. Carmichael, The theory of numbers and Diophantine analysis, New York, Dover, (1959).
- [4] S.G. Telang. Number theory, Tata Mc Graw Hill publishing company, New Delhi . 1996
- [5] J.Shanthi, M.A.Gopalan, On finding Integer Solutions to Binary Quintic Equation $x^2 - xy^2 = y^5$, International Research Journal of Education and Technology, 6(10), 226-231, 2024.
- [6] J.Shanthi, M.A.Gopalan, On finding Integer Solutions to Binary Quintic Equation $x^2 - xy^2 = y^4 + y^5$, International Journal of Advanced Research in Science, Engineering and Technology, 11(10), 22369-22372, 2024.
- [7] J.Shanthi, M.A.Gopalan, On the Ternary Non-homogeneous Quintic Equation $x^2 + 5y^2 = 2z^5$, International Journal of Research Publication and Reviews, 4(8), 329-332, 2023.



- [8] M. A. Gopalan, S. Vidhyalakshmi, J. Shanthi, “ The non-homogeneous quintic equation with five unknowns $x^4 - y^4 + 2k(x^2 + y^2)(x - y + k) = (a^2 + b^2)(z^2 - w^2)p^{3n}$ „, open journal of applied and theoretical mathematics, vol-2, no 3, 08-13, sep 2016.
- [9] J.Shanthi ,M.A.Gopalan , Delineation of Integer Solutions to Non-Homogeneous Quinary Quintic Diophantine Equation $(x^3 - y^3) - (x^2 + y^2) + (z^3 - w^3) = 2 + 87T^5$, International Journal of Research Publication and Reviews, 4(9), 1454-1457 , 2023.
- [10] J.Shanthi ,M.A.Gopalan , On the Non-homogeneous Quinary Quintic Equation $x^4 + y^4 - (x + y)w^3 = 14z^2T^3$, International Research Journal of Education and Technology , 05 (08),238-245 , 2023.
- [11] E.Premalatha, J.Shanthi, M.A.Gopalan On Non - Homogeneous Cubic Equation With Four Unknowns $(x^2 + y^2) + 4(35z^2 - 4 - 35w^2) = 6xyz$, Vol.14, Issue 5, March 2021, 126-129.
- [12] J.Shanthi,M.A.Gopalan, A search on Non –distinct Integer solutions to cubic Diophantine equation with four unknowns $x^2 - xy + y^2 + 4w^2 = 8z^3$, International Research Journal of Education and Technology,(IRJEdT), Volume2,Issue01, May 2021.27- 32
- [13] S.Vidhyalakshmi,J.Shanthi,M.A.Gopalan,”On Homogeneous Cubic equation with four Unknowns $x^3 - y^3 = 4(w^3 - z^3) + 6(x - y)^3$, International Journal of Engineering Technology Research and Management , 5(7) ,July 2021,180-185
- [14] S.Vidhyalakshmi,J.Shanthi,M.A.Gopalan, T. Mahalakshmi, “ On the non-homogeneous Ternary Cubic Diophantine equation $w^2 - z^2 + 2wx - 2zx = x^3$, International Journal of Engineering Applied Science &Technology, July-2022, Vol-7, Issue-3, 120-121.
- [15] M.A. Gopalan, J. Shanthi, V.Anbuvali, Obervation on the paper entitled solutions of the homogeneous cubic eqution with six unknowns $(w^2 + p^2 - z^2)(w - p) = (k^2 + 2)(x + y)R^2$,International Journal of



- Research Publication& Reviews, Feb-2023, Vol-4, Issue-2, 313-317.
- [16] J.Shanthi, S.Vidhyalakshmi,M.A.Gopalan, On Homogeneous Cubic Equation with Four Unknowns $(x^3 + y^3) = 7zw^2$,” Jananabha, May-2023, Vol-53(1), 165-172.
- [17] J. Shanthi , M.A. Gopalan, Cubic Diophantine equation of the form $Nxyz = w(xy + yz + zx)$, International Journal of Modernization in Engineering Tech &Science, Sep-2023, Vol-5, Issue-9, 1462-1463.
- [18] J. Shanthi , M.A. Gopalan,”A Search on Integral Solutions to the Non-Homogeneous Ternary Cubic Equation $ax^2 + by^2 = (a + b)z^3, a, b > 0$ ”, International Journal of Advanced Research in Science, Communication and Technology, Vol-4, Issue-1, Nov-2024, 88-92.
- [19] J.Shanthi ,M.A.Gopalan ,On finding Integer Solutions to Binary Cubic Equation $x^2 - xy = y^3$,International Journal of Multidisciplinary Research in Science ,Engineering and Technology ,7(11),2024,16816-16820.
- [20] J.Shanthi ,M.A.Gopalan ,A Classification of Integer Solutions to Binary Cubic Equation $x^2 - xy = 3(y^3 + y^2)$,International Journal of Progressive Research in Engineering Management and Science (IJPREAMS) ,5(5),2025,1825-1828.
- [21]] J.Shanthi ,M.A.Gopalan ,Observations on Binary Cubic Equation $x^2 - 3xy = 4(y^3 + y^2)$, IJAR SCT ,5(1),2025,1-5.
- [22] J.Shanthi ,M.A.Gopalan ,On Solving Binary Cubic Equation $x^2 - 4xy = 5y^3 - 3y^2$, IRJEdT ,8(6),2025,139-144.





